QU UREFR FPEACER R =3 2023/7/9 &G T7—Fz)—i5

JIE 152 K4 i@ 50m 50m =51l 10 X
1|ER X#& |&EBM 340 342 682 37 13
2|k Rk [(REXFE 334 343 677 37 14
ey BEh |HER 337 334 671 32 12
4;XH 1§ |EBEmM 335 332 667 30 8
5|k #£i— |ZHME 338 328 666 27 12
6|l T |REHKRFE 331 335 666 27 8
115 EX [ KRAEF 332 333 665 30 11
8|k EF |[IFRE 329 320 649 26 7
9|0 X | KIRAT 325 323 648 25 7
10|8FR BE |FEEE 322 321 643 21 8
AR g | ZER 323 319 642 19 3
12|5FH X | KIRAF 320 313 633 18 5
13|25 &M |BHE 319 313 632 16 5
13|F/FAR X |FEHAEF 323 309 632 20 8
15|%E BN |BRE 297 321 618 18 3
16| AT # | KFERILT 304 302 606 8 3
17(738 & EHE 301 297 598 11 4
18|#87c FREA | KBRAF 249 286 535 8 0

aAVINOUREF

B |K4 Bl 50m 50m =X 10 X
1okEF X8 | BER 313 308 621 16 4
21f8H tRF | KBRAT 298 316 614 16 4

yh—JBF

B |K4 Bl 70m 70m =X 10 X
1J\1E & |AEXZFE 328 325 653 24 15
216 {5 |[RAEHXE 326 321 647 21 7
216H [{BFE |FAEHXRE 324 323 647 20 2
4| HE T |[EEXEFE 314 326 640 15 3
5|2 K |REXFE 326 313 639 24 5
6|HF HE |FZER 318 319 637 17 6
1EH & |[RE#HXE 316 319 635 21 7
8|EA fE |FEHXE 319 316 635 18 8
9|EH A |REHKXFE 318 313 631 17 7
10|[EO K¥n  |EgXE 314 316 630 22 9
1MME B |KRHE 301 311 612 12 2
12|50 X pEgEXE 298 314 612 9 4
13/h\f8 BN | JEEEKRE 308 302 610 13 7
14|58 AF [AgXF 299 309 608 15 4
15| Kf &N |FEEKRFE 301 303 604 15 4
16|8HA B+ |RELKRE 305 299 604 11 6
17|8H F— |E#HE 306 291 597 11 1
18|NHA ZFEFE | KERAT 298 276 574 9 4
19X /B | KFBELT 296 275 571 7 4
205 H B [EBET 281 273 554 9 2
2|8l BE |REZHE 267 280 547 4 3
2|Hf XK&E |HER 245 277 522 8 1
23|HF shRk | REFHE 256 265 521 6 3
24| LA FEz |[EBEW 251 241 492 1 0
25|#AH f1ZE [EBR%HE 256 234 490 4 2
26| L HE |REFHE 207 244 451 5 0
27| Kih |HEER 225 218 443 4 1
28|15R EiF [REFE 233 194 427 8 4

RiE |EE ZHl [EEFXEHE 0 0 0 0 0




FPEACER R =3 2023/7/9 EBT7—Fz)—i5

Yh—T&F

[t K4 i@ 70m 70m =5 10 X
1|FEFR ADY AR 289 299 588 13 2
21 BE |RIEHKE 294 287 581 10 4
R FE |EEFHE 280 269 549 5 2
RS 8% |(IRER 283 260 543 3 0
5|MZ i  |RISHKE 258 259 517 4 2
641l HF | KERAF 249 213 462 7 2
15t 5#E |[EEZFHE 227 212 439 2 1

7RI BF

[t K4 i@ 50m 50m =5 10 X
1Ak £ =B 218 225 443 2 1
21183 EA |EBWH 180 209 389 0 0

U—18JUh—JBF

B |K4 & 60m 60m &5 10 X
WX #a |[ERFEGF 278 301 579 11 3

U—18Uh—J%F

[t K4 i@ 60m 60m =5 10 X
/N8 HE |IKBEER 283 279 562 4 1
| KRE FE |IRRER 275 270 545 5 0
=B KX | ERFEGFE 265 259 524 4 0

GAYH—TBF

JIE {32 K4 g 30m 18m =t 10 X
1| KE ERX |[HER 324 347 671 36 9
2140 EXR |ERFEGFE 311 331 642 30 12

GAYH—T & F

JIE {32 K4 g 30m 18m =t 10 X
1{Af WHE |EER 328 342 670 29 5
21554 . |IRBR 318 338 656 28 6
J|AF #WE |HEER 309 333 642 22 8




